1.2 Proportional Tables PRACTICE

Use the verbal statement to fill in the table. Find the constant of proportionality, k.

1. Teri pays 4 dollars for 2 gallons of milk. 2. Patrick eats 15 crabby patties every 3 hours.
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In each table, determine if y is proportional to x. Explain why or why not.
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Use the tables to answer the following.

9.
Candy Cost
 (pounds) | (dollars)
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2 4

Is the cost proportional to the

amount of candy?
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Time | Snowfall
(hours) | (inches)
2 8
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Is the snowfall proportional to the
time?
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Is the price proportional to the
amount of coffee?
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In the following tables y is proportional to x. Fill in the table and state the constant of proportionality.
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Fill in the table and answer the questions.

15. The number of teachers at Generic Middle School is proportional to

the number of students.

a. Howmany students are there for one teacher?
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b. If there are 14 teachers at Generic Middle School, how many

students are

there?
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